# **Atwell College**



**YEAR TEN** 2024 24 499 10 B

# ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 8th December 2023 Using "6JVY" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be dispatched for FREE no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the return date of Friday 8th December 2023.

Orders placed after the 8th of December will incur a late fee of up to \$17.50. If ordering later, please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Your Campion Store 25B BAILE ROAD CANNING VALE WA 6155 Contact Us 08 6240 2778 salesperth@campion.com.au

## Please tick the items required in the box provided $\downarrow$

		Item Item Qty	Unit	Total
Office Use	Description	No. Reqd Reqd I		Amount \$

#### YEAR TEN

Please note that there are digital products (eCode or cCode) on this Resource List. These products are single user licenses and are only valid for 1 year (unless otherwise stated). Digital resources cannot be returned, refunded or exchanged if you do change your mind, even if you haven't used or activated them. We recommend you please order your items carefully ensuring the correct resources are selected for your child's subjects.

Please allow sufficient time for digital resources to be processed and made available to the student after purchase. When ordering after the return due date some items may go to backorder and need to be reordered from the supplier.

BRING YOUR OWN DEVICE Atwell College actively supports the Bring Your Own Device (BYOD) program. We strongly encourage all students to bring suitable devices (e.g. laptop computers or tablets) to school to use in classes. Information on BYOD can be found on the Atwell College website: www.https://www.atwellcollege.wa.edu.au/view/enrol/byod.

#### **GENERAL STATIONERY**

	Please note: Items below are required for all classes.					
P55522	Eraser Plastic Pencil Economy in sleeve	1		2	0.60	1.19
P51353	Glue Stick 40gm Artline Purple	2		2	2.34	4.68
P50613	Highlighters Pkt 4 Assorted	3		1	6.55	6.55
P55821	Markers Connector Pens Wallet 20 Assorted	4		1	11.48	11.48
P53324	Marker Whiteboard Pilot BeGreen V Board Master Chisel Pack 5	5		1	12.96	12.96
P56095	Pen Ballpoint Cap Type Blue Medium	6		10	0.30	2.98
P56096	Pen Ballpoint Cap Type Red Medium	7		5	0.30	1.49
P50271	Pencil (HB) Goldfaber	8		5	0.55	2.76
P52001	Pencil (2B) Goldfaber	9		5	0.55	2.76
P50341	Pencils-Coloured 24's Faber Classic Colour	10		1	10.67	10.67
P50461	Pencil Case 235x130mm Name Small	11		1	2.21	2.21
P50090	Ruler 300mm Wooden	12		1	0.94	0.94
P56428	Safety Glasses Clear Wrap Around	13		1	5.48	5.48
	(This personal use item is a compulsory health and safety requirement fo	r all Science d	& Technol	logies classes)		
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	14		1	11.94	11.94
	MATHEMATICS					
P55156	Binder Book A4 192 Page 8mm	15		4	5.74	22.95
P51933	Calculator Abacus Scientific SXIIMATRIXN	16		1	43.95	43.95
P55340	Compass CO5 Metal	17		1	2.76	2.76
P56353	Protractor 10 cm 180 4" Half Circle	18		1	0.38	0.38
	All Year 10 students in the Mathematics AEP (Academic Extension F Classpad FX-CP400. Please refer to the College website for a copy o				hase a Ca	sio
	ENGLISH					
P50450	Exercise Book A4 64 Page 8mm with Margin Spirax #106	19		4	1.11	4.42
	SCIENCE					
P07190	National Science Year 10 [Shadwick]	20		1	42.46	42.46
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	21		4	1.40	5.61
	Safety Glasses (see General Stationery list)					
	HUMANITIES AND SOCIAL SCIENCES (HASS)					
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	22		4	1.40	5.61
	HEALTH & PHYSICAL EDUCATION					
P55442	Display Book A4 20 Pocket Black Refillable	23		2	1.83	3.66
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	24		1	1.40	1.40

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	ELECTIVES					
	BASKETBALL					
P55442	Display Book A4 20 Pocket Black Refillable	25		2	1.83	3.66
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	26		1	1.40	1.40
	CAFÉ FOODS					
P50670	Display Book A4 20 Pocket Clear Cover Blue Refillable	27		1	1.96	1.96
			—			
D50451	CAREER AND BUSINESS STUDIES	00	_	4	4 40	4 40
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	28		1	1.40	1.40
	CLASS MUSIC					
E06652	Digital Auralia Cloud Licence Windows & Mac (Access Code) Please choose carefully before ordering this product as once purchase	29 d, <b>even</b> i	DIGITAL ITEM	1 ctivate	35.00 d or used	35.00 <b>the</b>
P55442	access code, this digital resource cannot be returned, refunded or exch Display Book A4 20 Pocket Black Refillable	anged II 30	r you cnange you	ir mina 1	1.83	1.83
P51464	Headphones Stereo Deluxe Lightweight with Volume Control	31		1	11.05	1.05
P50453	Music Book 225x175mm 96 Page Ruled & Staved Spirax 242	32		1	1.45	1.45
	COMPUTER AIDED DRAWING No items required for this subject.					
	DRAMA					
P54030	1 x Plain black short sleeved T-shirt. NO LOGO Scrapbook 335x245mm 64 Page 90gsm Superhero	33		2	2.04	4.08
	ENTERTAINING WITH FOOD					
P50670	Display Book A4 20 Pocket Clear Cover Blue Refillable	34		1	1.96	1.96
	FASHION					
P54030	Scrapbook 335x245mm 64 Page 90gsm Superhero	35		2	2.04	4.08
	GRAPHIC DESIGN					
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	36		1	11.39	11.39
P52013	Pencil (4B) Goldfaber	37		1	0.55	0.55
P52014	Pencil (6B) Goldfaber	38		1	0.55	0.55
	HUMAN MOVEMENT					
P50131	Display Book A4 20 Pocket Clear Cover Black Refillable	39		1	1.96	1.96
P50450	Exercise Book A4 64 Page 8mm with Margin Spirax #106	40		1	1.11	1.11
			_			
P51464	INFORMATION COMMUNICATIONS TECHNOLOGY Headphones Stereo Deluxe Lightweight with Volume Control	41		1	11.05	11.05
	Housphones otoreo bolaze Lightweight with volume control			I	11.05	11.00
	MEDIA – DOCUMENTARIES & FILM SUBVERSION / GAMING (		RE & MERCHA	ANDIS		
P51464	Headphones Stereo Deluxe Lightweight with Volume Control	42		1	11.05	11.05
P53076	Memory Card MicroSDHC 64GB UHS-1 U3 with USB ReaderNO RETURN	43		1	29.71	29.71
	METAL TECHNOLOGY					
P55442	Display Book A4 20 Pocket Black Refillable	44		1	1.83	1.83
	Safety Glasses (see General Stationery list)					

# Please tick the items required in the box provided $\downarrow$

Office Use	Description	ltem No.	Item Reqd	• Qty Reqd	Unit Price \$	Total Amount \$
	MIXING AND SAMPLING MUSIC					
P50131	Display Book A4 20 Pocket Clear Cover Black Refillable	45		1	1.96	1.96
P51464	Headphones Stereo Deluxe Lightweight with Volume Control	46		1	11.05	11.05
	NETBALL PROGRAMME					
P55442	Display Book A4 20 Pocket Black Refillable	47		1	1.83	1.83
P55481	Document Wallet FC Polydoc Blue	48		1	2.13	2.13
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	49		1	1.83	1.83
	OUTDOOR EDUCATION					
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	50		1	1.40	1.40
	PHOTOGRAPHY					
P53076	Memory Card MicroSDHC 64GB UHS-1 U3 with USB ReaderNO RETURN	51		1	29.71	29.71
	ROBOTICS Safety Glasses (see General Stationery list)					
	RUGBY LEAGUE PROGRAMME					
P55442	Display Book A4 20 Pocket Black Refillable	52		1	1.83	1.83
P55481	Document Wallet FC Polydoc Blue	53		1	2.13	2.13
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	54		1	1.83	1.83
	SPECIALIST HEALTH EDUCATION					
P50131	Display Book A4 20 Pocket Clear Cover Black Refillable	55		1	1.96	1.96
P50450	Exercise Book A4 64 Page 8mm with Margin Spirax #106	56		1	1.11	1.11
	<b>STAGE &amp; EVENT PRODUCTION</b> No items required for this subject.					
	TEXTILES					
P54030	Scrapbook 335x245mm 64 Page 90gsm Superhero	57		1	2.04	2.04
	THE DEVELOPING CHILD					
P50670	Display Book A4 20 Pocket Clear Cover Blue Refillable	58		1	1.96	1.96
	VISUAL ARTS					
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	59		2	11.39	22.78

## WOOD TECHNOLOGY

Safety Glasses (see General Stationery list)

Number of Boxes ticked:



\$0.00

**ESTIMATED AMOUNT DUE** 

\$

(PRICES CORRECT AT 14/11/23)

Postage (Home delivery only)

14-11-2023 18:03:53 L0499 YR 10